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Introduction
[bookmark: OLE_LINK31]In this contribution, we discuss the UE ACS requirement for NR-U. 
Discussion 
The UE ACS requirement has been discussed in previous meetings. There are still some open issue need further discussion [1]. 
	· Single Carrier:
· ACS value is TBD at 20 MHz CBW
· Interferer BW is 20 MHz for all CBW
· Scale the ACS value by 10log(bandwidth/20MHz) for BW larger than 20 MHz. 
· Case 1: Wanted signal power is REFSENS + 14 dB
· Case 2: [Not specified]
· Intra-band contiguous CA:
· Interferer BW is 20 MHz (BW Classes B, C, D, E, I, M, N, O)
· [ACS level of intra-band CA set according to the actual configured aggregated bandwidth] 




Firstly we look at the ACS requirement for 20MHz channel BW. WIFi does not include ACS definition but define Adjacent Channel Rejection (ACR) as the RX selectivity requirements. ACR is defined as a function of the adopted MCS. As discussed in Rel-13 LAA WI, the equivalent ACS is in the range from 22 dB to 29 dB [2]. Worse ACS requirement than WIFI might not be a good option. And the ACS requirements for LAA are 27 dB for 20 MHz channel BW. It is proposed to reuse LAA 27 dB ACS for NR-U UE.
Table 8.4.2-2 of TR 36.889: ACIR values when Wi-Fi is the victim system.
	Study Case
	Wi-Fi ACS (dB)
	Aggressor ACLR (dBc)
	ACIR (dB)

	LAA node to Wi-Fi AP/STAs
	22
	
45
	21.98

	
	25
	
	24.96

	
	29
	
	28.89

	LAA UE to Wi-Fi AP/STAs
	22
	
30
	21.36

	
	25
	
	23.81

	
	29
	
	26.46

	
Wifi AP/STAs to Wi-Fi AP/STAs
	22
	26.35
	20.64

	
	25
	
	22.61

	
	29
	
	24.47



Proposal 1: ACS for NR-U UE is 27 dB for 20 MHz channel BW.
Regarding the need of case 2, the dynamic range may be smaller than that of NR UE, and the interference level could be less than -25 dBm which is defined for NR case 3 ACS. One consideration could be LBT power level + ACLR= -72+27= -45 dBm. It is 5 dB higher than that already close to the level for case 1 which is -89.7+39.5 = -50.2 dBm. Hence it will be ok not to specify case 2 ACS
Proposal 2: Case 2 ACS is not specified.

Conclusions
In this contribution, we discussed the remaining issues on UE ACS requirement in NR-U, and the following proposal was made: 
Proposal 1: ACS for NR-U UE is 27 dB for 20 MHz channel BW.
Proposal 2: Case 2 ACS is not specified.
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